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Question Number : 1 Question Id : 3838232241 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Flask shaped ascocarp with an apical opening

e e52306S &oG @i 250 So(0 EOS es )56

Options :

Perithecium

1 v POEIAHO

Cleistothecium

, x SPEIARO

Apothecium

5 % OPFIADO

Cystocarp
4 % 050

Question Number : 2 Question Id : 3838232242 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[n which of the following organisms, cell wall is not found in any stage?

E%385 DI & 29’ ¥ea8S350 o) SIS ¥ Y0TIe?



Options :

Dinoflagellates

| % BSTBSE)

Chrysophytes
) % IBFRO)

Slime moulds
3. # 23M0% arereD

Protozoans

4. v | FEEIIY

Question Number : 3 Question Id : 3838232243 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): In Rhodophyceae food is stored as floridean starch

Reason (R): Floridean starch is similar to amylopectin and glycogen in structure

QB0 (A): BE DN S0 e330 FOAS D) ™ o) § &oenod

5380 (R): ORS 0 65yBS’ DS DES HOA FFRSH
PO {0 o) OLN0H

The correct answer 18

Q0N RGO

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 v (A) DOAW (R) &0 SOTDDD. (A) 30 (R) SOTDS D5G€

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) DHBAW (R) &0 DB, SR (A) 50 (R) SOTS 5Ged ¢



(A) is correct but (R) is not correct

3 % (A) SOOI SR (R) DOTIE 5°¢»

(A) is not correct but (R) is correct
4 % (A) QOB 570 5 (R) HODIE

Question Number : 4 Question Id : 3838232244 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the wrong pair
¢92)) 250 HBOTHN
Fruit Common Name Family Fruit
OO0 VPETUE Talodd) SVAVOIANW NIOAW
A | Pineapple Bromeliaceae Syconus
ST 1B 0OTDR VSR
B | Paddy Apiaceae Legume
230 AW Siirsad
C | Cucumis Poaceae Caryopsis
&% FTHR $5udago
D | Jackfruit Moraceae Sorosis
DR TR FTVR
Options :
A,Band D

1 % A, Ba08aw D

A,Cand D
> % A, C 080 D




B.Cand D
B, C 8a» D

A,Band C

Question Number : 5 Question Id : 3838232245 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

808 5°¢3Q) 2365 HBTN
Placentation Type Example
0" O8N G O6
A | Marginal [ | Sunflower

GorOes S $5°0650
B | Axile [1 | Argemone
8% LIS
C | Parietal [l | Tomato
B0 APV RN
D | Basal IV | Pea
Yo 2T°e3

The correct answer 1s

ASTo IS aRNTe!

Options :

1.« A-ILB-LC-II,D-1V

2w A-IV,B-1T,C-II, D-1

3 x A-IV,B-1II,C-1L,D-II



4% A-ILB-1V,C-1,D -1

Question Number : 6 Question Id : 3838232246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Genetic nature of Ribonucleic acid was discovered by

B B0(57N0 236308 0 §27°696300/) EeFS) A

Options :

Bovern

1% 'R0

Hugo de Vries
5 % TOIFRIDV

Frankel Conrat

3« &P08S §]0°E

Khorana

4. % &3‘5‘%

Question Number : 7 Question Id : 3838232247 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Variation in lengths of filaments of stamens within a flower 1s seen in

2,8 008" $H800 SIES0TEN S FesHOS’ IS0 L0 HIS

SRS

Options :



Salvinia and Brassica

1 % O SAAD DO (2°0F

Brassica and Musa

R B UGS SRSV IOWINVRS

Salvia and Brassica

3. v O 05 HOASW (23°0F

Salvia and Datura

4 % O L0 $BAD ST

Question Number : 8 Question Id : 3838232248 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Direct pollination is found in gymnosperms

Reason (R): Ovules of gymnosperms are naked

D)0 (A): DY (D85S, DTN HONGH0 GOLNOE
5285620 (R): DodgedDerereS e0mmen i6)0

The correct answer 1s

SO LN NV N o)
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 ¢ (A) a8 (R) 0 DOBAD. (A) 80 (R) Q8D a)adBed

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HOAW (R) €0 ABTDI, SR (A) 80 (R) SBTS DS5GeD 5°¢0



(A) is correct but (R) is not correct

« (A) SOTDIA 5% (R) AT 5°¢%0

(A) 1s not correct but (R) 1s correct

4 % (A) DSOS 5°¢H 5 (R) OIS

Question Number : 9 Question Id : 3838232249 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

B0 57¢3Q) 23¢5DBTVN
List — 1 List — 11
e —1 e -1l
A | Protandry | Abutilon
O (DG Y 920537
B | Protogyne 11 Hibiscus
(R 27 (DTS IS ESALAS
C | Herkogamy IIT | Datura
286500 Q4
D | Self-sterility IV | Sunflower
€3¢€522000§€d §O ArPO§5°0e80
The correct answer is
DB DEFETS0
Options :

1 «A-IV,B-1II,C-II,D-1

, x A—IV,B-1I,C-1II,D-1I

3 # A-IILB-1I,C-1V,D -1



4. 8« A-1ILB-III,C-1V,D -1

Question Number : 10 Question Id : 3838232250 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ategmic, Unitegmic and Bitegmic ovules are present serially in

E3EI0aTe, DEBSLIO0ES SO 6 §ESLITINES 0GR SENT IS
) OLTOW

Options :
Cycas Loranthus Helianthus

| x 89 ST 05D OASTFONR
Lathyrus Loranthus Cycas

5 % OB ST 0GR ER
Loranthus Cycas Helianthus

; x STOPD VD SEdleWwelary
Loranthus Helianthus Lathyrus

4 v STORN  FOATFOPD OBV

Question Number : 11 Question Id : 3838232251 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Floral formula of Solanum nigrum

a0 B (5°00D) A1) DOBHaN (DWEBEI0)

Options :



. Ebr Ebrl & § Ko Ci A Go)

&N

Br Ebrl & % Ks, Cs As Go

2.¥

Br Brl % § Ks Ci1#2+2) Ao+ 61

3. %

Br Brl & § Pe-

4. %

& N
» Az Go

Question Number : 12 Question Id : 3838232252 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following

1B0& ¢3Q 23¢5DBTD
Scientific name Common name

FLQOD TS0 TS TSN

A | Colchicum autumnale |1 | Aswagandha
57 )N e8I O &3 s

B | Dracaena aungustifolia | 11 | Spanish daggar
1E5R0 90HNFOAD TN @6

C | Yucca gloriosa III | Red dragon
S0y F8EBr0 B& T8

D | Withania somnifera IV | Medow saffron
DAL ) S DE DS

The correct answer 1s

STe NS IN VA RNTe!



Options :

| v B—TV.B-1LC -1, -1
> x A-LB-W,C-TLB-1
3 #« A-IV,B-1I,C-1II,D -1

4 2 B~LB-IN. G- D~}

Question Number : 13 Question Id : 3838232253 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In one helix of DNA, minimum and maximum number of hydrogen bonds present
between nitrogen bases

2.8 DNA 00008 829 $0°0 3655 )0k Ea 10050 (0 33E5S
20O DO
Options :
20 and 20
1. % 20 0835 20

20 and 30
2.« 20 805 30

30 and 20
3 % 30 0005 20

30 and 40
4. % 30 O3 40



Question Number : 14 Question Id : 3838232254 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“R” group amino acids of Glycine, Alanine and Serine respectively are

3RS, 0TS HO0 DBS B @SreeS “R” HINTAFED HET
Options :

. CH*; -OH; H; CH,
1.% 2 :

H ; CH,-OH ; CH,
2. % =

H : CHq ; CH, —OH
3. ¢ : 8

H ; CH

4 % R CHE—OH

Question Number : 15 Question Id : 3838232255 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cell organelles included in endomembrane system are

29085855 €79 3553065 TE 2B EeTrotednen

Options:

Golgi, Lysosomes and Vacuoles

| v T8, BAFFDY B B8Eew



Golgi, Mitochondria and Vacuoles
™), Dol BA% HE B8%en

Lysosomes, Ribosomes and Vacuoles

3 x OFFD), BEFDY HB5M B8Fen

Golgi, Chloroplasts and Vacuoles
4 % T, 8¢ Beawehen SHBaAw B8%ew

Question Number : 16 Question Id : 3838232256 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Dehydration occurs during the formation of the following type of bonds

&: 1808 5505 TOAS 05 TN’ AYOESE BEND
L. Peptide bond

PR VOGN
1. Hydrogen bond
PEBQ 20830
II.  Glycosidic bond
B8 AE 2085w
IV.  Ester bond
DO 20N
Options:
[ and II
1. # | :ﬁJaCﬁ&) Il
IT and III

5. % 11 O™ 111

IT and IV
3. % 1] a8 IV



I, 111 and IV
4 o L 1 805w IV

Question Number : 17 Question Id : 3838232257 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1B0B 7¢3Q) 23650t
Nature of amino acid Example
LIS’ €3eDVO K §27°69050 &S SED
A | Acidic amino acid [ | Valine
23509655 TS o0 FOS
B | Aromatic amino acid [T | Glutamic acid
@0F35°¢38 9D’ €300 (DEFE e300
C | Neutral amino acid III | Tryptophan
BE0 eI €300 1E3°rS
D | Basic amino acid IV | Lysine
58 &S €8N0 SIS
The correct answer 1s
QTR DTG0
Options:

1.« A-IILB-I,C-1V,D -1

, x K~TI B~T1,E~1V, D—I

3 x A-IILB-I,C-LD-IV

4. v A-ILB-II,C-1,D-1IV



Question Number : 18 Question Id : 3838232258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The site of transcription and translation in eukaryotic cells are respectively

QTS TS BP0 B0 TR0 BEM (DBFEN SHIM

Options :

Nucleus; Cytoplasm
|« SO(E80; Eea(Chad e

Tonoplasm; Cytoplasm

5 % EFTOD; Eea|5e3§a3m

Cytoplasm; Nucleus

5. % 369(C555e50; BolCd80

Peroxysomes; Polysomes

4, % i}ﬂ‘@g@‘ﬁ}g; 33“@?3550,3

Question Number : 19 Question Id : 3838232259 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Specialized epidermal cells surrounding the guard cells

38 856770 35000 oY) (DB5E arersd YO 8eTen

Options :

Complementary cells
1. % V0YJ°O8 Sered



Subsidiary cells
5 DO BeTren

Bulliform cells
3 % B0 Sezren

Lenticels
4 % SOEVS)

Question Number : 20 Question Id : 3838232260 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement with reference to the diagram given below

B%S DD S0 $%0 DO &35 & HBOHE

cell dmo cell 30
A B
# 4 g i
f . : # - lun‘{l 4 :'Sﬂﬂ .
£l e, %
Solute ———— - ¢ <4y ¥
(Seiba f ook ;
¥
i BTV P
i 15% .,
i R _"_
.f/ 4 , /;./ ,'
F.r f: /r .rl
C
cell o

Options :

water moves from A to B
1. % Q% A o0& B % B0t

water moves from C to A

2. % A C o0& A § B30



B has highest water potential

3 « B 8 @508 J¢3%850 e

C has highest water potential
4 x C 8 @e55% Je3$¥0 §c»

Question Number : 21 Question Id : 3838232261 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify incorrect pair
857 23¢5 B80T
I, Casurina — Succulent root — Phylloclade
SN0 — B2IBed B — D|ELI50LED
1. Asparagus — Succulent leaf — Phylloclade
&30 )T — 502385 (Had — d|E°2IT 0D
[11. Opuntia — Succulent stem — Phylloclade
2,00 — B0258e5 500N — D(EISTOCE
IV.  Aloe — Succulent leaf — Xerophyte
S — 82505 D|Hed — DO T

Options :

I and 111
1. % 10605 III

[ and IV
2 % [ o080 IV

[ and 11
3. ¢ [ 000 II



[l and IV
[l 805 IV

Question Number : 22 Question Id : 3838232262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Disulphide bridges helps in stabilization of protein structure

Reason (R): Sulphur forms disulphide bridges in quaternary structure of proteins
QB0 (A): ¢3S o6, 65609%0S BIBIE (DG 0 AFE00
525620 (R): (PSS 9800 o065’ BHB)E 2050 305 B0

The correct answer 1s
NOANFNN NG
Options:

(A) and (R) are correct. (R) is the correct explanation of (A)
1.« (A) DBAW (R) &0 QBDJD. (A) 80 (R) Q8D 5O

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HBAM (R) €0 BT, SR (A) 50 (R) SBTS DS5GeD 5°¢0

(A) is correct but (R) is not correct

3 % (A) SBDIB R (R) OIS 5°¢»

(A) 1s not correct but (R) 1s correct

4 % (A) QOIS 570 5% (R) DEBIE

Question Number : 23 Question Id : 3838232263 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Match the following

808 7¢3RQ) 2365 DTN
Name of Enzyme Element
OB DN >80
A | Activator of Carboxypeptidase [ | Iron
SO)8 ) DNBR GBSO DES
B | Activator of IAA Oxidase [l | Magnesium
IAA @830 &®25°0 DAY Ao
C | Activator of Hexokinase III | Manganese
281370 &850 STOBR
D | Activator of Peroxidase IV | Zinc
DOENER GB350 208
The correct answer 1s
NTO NS NV A NTe!
Options :

. 2 B—I. B-1LC~ 11, D1

> x A-IV,B-LC-I,D-1II

3vA-IV,B-1II,C-1I,D-1I

4.« A-IILLB-1V,C-1I,D -1

Question Number : 24 Question Id : 3838232264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Per one Calvin cycle the number of CO,, ATP utilized and the number of Glucose,
NADPH molecules produced respectively are

28 5O ¢S 500908 AATFA0DVT COy, ATP © 0SB treh BT
({82, NADPH @9€0s)® Q0§ G

Options:

1.J6;|8;1:]2
2651251 ; 18
3x6;1;12; 18

Ax12;1;6 ;18

Question Number : 25 Question Id : 3838232265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In C4 plants the Oxaloacetic acid is formed by this reaction

Cs 0K 0 e35°)5e0¢38 3600 &: 1808 1985 & T° 800

Options:

Decarboxylation of pyruvic acid

| x DT 8D B5EH8IBAS

Carboxylation of phosphoenol pyruvic acid

5 v TFIRTS DETDS @D 50°)8 )SAN

Oxidation of malic acid

3 % DOF 8 @888



Oxidative decarboxylation of malic acid

4 % DOF 8 e8)BEE3S As07)8IBAS

Question Number : 26 Question Id : 3838232266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify correct sentences regarding role of physiological responses of phytohormones
G0 DS Sty F6SSEEIN008 [DB)050OH
Q000NN ABAHON T8 §nen HHBothdw
L. Ethylene initiates sprouting of potato tubers
ABOS 2005 FneFBE)Eerd) (DB
II.  Gibberellins promote senescence
22)088) P50 (E¢eh) HE0 TJrow
[l Auxins promote flowering in pineapple
38100 IS 2815 18R A0 Tarow
[V.  Abscisic acid inhibits seed germination

8105 800 Db ©0FEE0 ATV
Options:

I1, 11 and TV
1w 11, 111 SH8a%0 IV

I, III and IV
5> o I, T 00803 1V

I, Tand IV
3 % L 110805 IV

I, IT and 111
4 % 1, 11 0808 I



Question Number : 27 Question Id : 3838232267 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 a¢3R) 23685080t
Name of the organic acid Number of carbons
85)8 80 DA E8)7°0 oY
A | a-Ketoglutaric acid [ | 2 carbons
a-865TDer85 &0 Bochy E8)en
B | Succinic acid Il | 4 carbons
D8 INE esa0 rentD §Gyoren
C | Citric acid III | 5 carbons
(38 80 MIAVETOARV OV
D | Acetyl group of Acetyl CoA IV | 6 carbons
DBO CoA S VIBS N0 e §8)ren

The correct answer 18
ABA) AP GTR0

Options :
1.« A-IV,B-LC-I,D-1III
> x A-IIILB-1,C-II,D-1V

3 x A—IV,B-II,C-L,D-1I

4vA-TLB-I,C-1IV,D-1I

Question Number : 28 Question Id : 3838232268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Substrate level phosphorylation does not occur in the following reactions of aerobic
respiration?

OIS 75X 80 A & BSOS R HETPRTow PF)OSAS BN

Options :

1,3 bisphosphoglyceric acid — 3 phosphoglyceric acid
1w 1,3 D0rFHB00S a0 - 3 e HA008 esapo

3 phosphoglyceric acid — 2 phosphoglyceric acid
5 @ 3 TRFHOOBS e3e0 — 2 FF YNIBS eseo

phosphoenol pyruvic acid — pyruvic acid
3 % TFYATO DETDE BP0 - NEFIE €80

Succinyl CoA — Succinic acid
4 % 08)BS CoA — D) &0

Question Number : 29 Question Id : 3838232269 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1808 3R 2383000
[ | Fungus A | Monascus Citric acid
30|50 0D (¢35 e300
II | Bacterium B | Trichoderma Streptokinase
286050 DSBS BERS
IIT | Fungus C | Streptococcus Cyclosporin A
30|50 RYFTER 2588 A
IV | Yeast D | Aspergillus Z | Statins
& &30V 3
The correct answer is
STOINENINV A NTO
Options :
1. # [-A-Y;  1I-B-X; MI-C-W; [IV-D-Z
> » I-C-Z; 1I-B-Y; II-A-X; IV-D-W
3. % I-D-W; 1I-B-X; III-C-Y; IV-A-Z
4 ¢ -D-W;  1I-C-X; 1II-B-Y; IV-A-Z

Question Number : 30 Question Id : 3838232270 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify correct combinations

QBCAHONN EoNEND HOook
Character Dominant Recessive
@5 £9530 PATARO1 10 ©0e50e50
I Shape of the seed Round Wrinkled
€5 357830 OGN | SRS DB
11 Colour of Pod Yellow Green
Heren (&) SO | edede) @500
I | Flower Position Terminal Axial
Do) PRI ADS0 | (ASdV0
IV | Seed coat colour Yellow Green
b £5¢5 Bord D) TISVRING

Options :

I and 11
1. % T8 II

II and 111
2. % II 0603w III

IIT and IV
3. # 111 a8 IV

[ and IV
4.+ 10000 IV

Question Number : 31 Question Id : 3838232271 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The table given below is related to checker board of dihybrid F> progeny of Mendel’s
experiment. Identify correct combinations

816 395288 7DF 0SS A 530888 (DTFH0S Fr 0 T&6 80
N020H0DIE. AT 2een hBodod

Genotype Phenotype Number of genotypes
20§ 8ra0 (3935870 BETO A0S
[ | YYRr Yellow Round 2
D0ay HO(BA)
I | YyRr Yellow Round l
5505 0[5
I | yyRR Green Round 4
85000,) MO(Ge)
IV | yyRr Green Round 2
%559 HOlEA
Options :
[ and II
1. % 10080 II
Il and IV
5 % 11 HOW IV
III and IV

3, % II1 s08a% IV

I and IV
4. v 10805 IV

Question Number : 32 Question Id : 3838232272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Beggiotoa is not a chemoautotrophic bacteria
Reason (R):  Chemoautotrophic bacteria derive carbon from CO; and energy from
oxidation of inorganic compounds
D0 (A): BATTEP 2.8 SO O 0H0kAS 2r880%H ¢
5380 (R): SPON & S0008F wé@c& CO2 O TE)R D DO
0O JrTe @8 1586 o) 58 Fodieron

The correct answer 18

N[O VPN AR Ne)

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 % (A) OO (R) @0 QBQDA. (A) 80 (R) OO D30

(A) and (R) are correct, but (R) is not the correct explanation of (A)

, « (A) B0 (R) €0 HOTS, 5 (A) 0 (R) SO Daded 59

(A) is correct but (R) is not correct

3 % (A) DODIA SR (R) DOTSE 5°¢»

(A) is not correct but (R) is correct
4 v (A) DBBDIE 5% 5 (R) OIS

Question Number : 33 Question Id : 3838232273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Morgan’s experiments of linkage on Drosophila the percentage of white eyed,
miniature winged genes recombinants in F, generation 1s

e [BFDer SFof) & IHTBEroS BenHEan)en, D) B oS
Bo&S3S30S 0T Qed0aras (85700T0E)) 3o TS0

Options :

1.



% 1.3%

2 % 98.7%

3. ¢ 37.2%

4. % 62.8%

Question Number : 34 Question Id : 3838232274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 a°¢3Q) 23650
A | Bacteriophage @ » 174 [ | 3.3 x10” base pairs
2r80Trares 0 x 174 3.3 x10° 528 a3¢ben
B | Bacteriophage Lambda [I | 4.6 x 10° base pairs
wé@&r@*ﬁ el & 4.6 x 10° 528 23880
C | Escherichia coli [T | 48502 base pairs
D3)62.0% & 48502 S8 23eben)
D | Human DNA haploid IV | 5386 Nucleotides
SR DEVedE DNA 5386 rSAITBR)
The correct answer 1s
IO TN ISV AN T®
Options :

1 vA-IV,B-III,C-1,D -1

, x BTV, BT, €~ DN



s A-IILB-ILC-1IV,D-1

+xA-IB-1V,C-1II,D-1

Question Number : 35 Question Id : 3838232275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct definitions of the following
[ Splicing = Removal of introns
II.  Capping = Addition of unusual methyl guanosine triphosphate added to 5' end of hn RNA
[l Tailing = Deletion of adenylate residues at 3'end of hn RNA
[V. Anticodon= Specifies termination of polynucleotide chain
1308 BS HBT A sdSawen hotsod
LR A0 =308 Sofiodadhd
L 00  =hnRNA S §3% oo NFO mis e (D)
A JOATAIRNA

M. Bowdoli  =hnRNA 3§ hod) @GS S5Ten SOR0HE
V. 58 S0880=TOSr ST RG Fend ©08s8968 AF0tHe

Options:

| and 11
1.« 18w II

IT and III
2 % 11 o805 11

III and IV
3. % 111 sDO80 IV

| and IV
4. % 1 a0 IV



Question Number : 36 Question Id : 3838232276 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Given is the schematic structure of the transcription unit. Select the correct answer
regarding A, B, C and D.
ONBDA0 [DAPETR), AP0 DTS D0 VIS A, B, C a0
D ©8) d02)06e)00N QTGO 2ad)) TaaN

A B

3 4 £ 2

J 5 p 3

Options :

A-  Terminator B- Promotor C- Templatestrand D- Coding strand

1. % AR A (RED NIPRNOE & OBehe) e
A-  Promotor B- Terminator C- Coding strand D-  Template strand
N T L SN [ATOYENNS 0S5 &) NWIARIDIFvEN
A-  Promotor B- Termmator C- Template strand  D- Coding strand
3 v waredd (AR QPO P 0Seha) ¥
A-  Terminator B- Promotor C- Coding strand D- Template strand
PR YR S3reB  H088Y 8RS S0 S

Question Number : 37 Question Id : 3838232277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

" - a7 v . B " ®
Tetracyclin resistance gene of PR ¥ consists of this restriction site

PBR322 305 BTSN 2050) €8 BlREN (DTF300 EON &0Lnod

Options :

1.+ BamH I

2. % EcoR |

3. % Pstl

4. % Hind 111

Question Number : 38 Question Id : 3838232278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A): In gel electrophoresis DNA fragments get separated and move
towards anode
Reason (R): DNA fragments are positively charged molecules
Q)50 (A): B DO|§ FBVR S0 DNA DOGEeD FBHTon
SH80% S )% DO oW
525690 (R): DNA 20&& e O a3a 0eh eotmeden

The correct answer 18

IO INENIN VA RNTS!

Options:

(A) and (R) are correct. (R) is the correct explanation of (A)
1 % (A) DOAW (R) &0 SODAD. (A) 80 (R) SO D5G€D



(A) and (R) are correct, but (R) is not the correct explanation of (A)

(A) SHBAM (R) €0 NOTX, 5% (A) B (R) DOTS Da3Bea 5°¢0

(A) is correct but (R) is not correct

5. v (A) OBPSA 5 (R) HOBIE 5%

(A) is not correct but (R) is correct
4 % (A) QOIS 590 5% (R) SOBSE

Question Number : 39 Question Id : 3838232279 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Thermostable DNA polymerase (Taq Polymerase) enzyme is isolated from the
following bacterium

&R DNA FO0TR (€75 rO0TR) J0BD & & 28005 000 dako
AR

Options:

Thiobacillus denitrificans

|« BTTIOD BBE3DES)

Haemophilius gallinarum

, % ROV TrOT B

Thermus aquaticus

3. v POV e35° 5380

Salmonella typhi
4 % PO ITY” P



Question Number : 40 Question Id : 3838232280 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following
500 a¢3Q 23e8380then
Name of the disease Hostplant Disease causing
56 W BN 0, | FIO SentiToin 8
[ | Brown rust a | Crucifers p | Fungi
R 5 0% Bihen | | (Erab) 300(¢9e50
[l |Redrot b | Turnip q | Fungi
A 5607 09 300(¢aw
[l | mosaic ¢ | Sugarcane r | Bacteria
Jwzronk AT ARON)
IV | Black rot d | Wheat § | virus
OE3 5080 QAN S0
The correct answer 1s
SJOINENN W ARNe)
Options :

1 % 1-d=s Il-cr Ill-a-q IV-b-p

> wl-d-p ll-c-q IlI-b-s IV-a-r

5 % I-c-q  IlI-d-s III- b-r IV-a-p

4w lra-s  Il-cer IM-d-q TV-b-p

Zoology

Section Id : 38382351



Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 41 Question Id : 3838232281 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

2

Online
Mandatory
40

40

40

Yes

0

1
38382351
Yes

null

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct statements

1808 a¢3Q 2330080 TR, B @oTen Hdood

L A biogeographic region with a significant reservoir of biodiversity that is
under threat of extinction from humans is called biosphere reserve
SPYA GO Denayehdd NS BIINS 0B e SoTenT
&OT B FHYE (BT BSFY 08§ & Zocrexn (biosphere reserves)
®0Erd

[I.  Cryopreservation, in - vitro culture, gene bank etc., are some methods of ex-situ
conservation
@& FSO59E, 3 ' D0SYS, g 2r505en NGBS §) Yo
2raTs 00E.£ AT

[ll.  Species diversity between two adjacent ecosystems is called o - diversity
36 6 BrdBm SVOS &) 2P DS)F ) Ber) IS0
(STelAReV

IV.  Digitalin 1s obtained from fox glove plant

A2erOS 0 5) 'S eF 308, S0A HoIFYd

Options:
1% LI
5w 11, 111

5 % 1L IV

4o LIV

Question Number : 42 Question Id : 3838232282 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Maintenance of relatively constant internal conditions different from the surrounding
environment is called

HBITOS SrEI0 G591 9)E38, 22 TeroS 0 D8 8368
S0 @ER), A0 &) 0erH

Options :

Homeothermy

1= ROAS

Haemostasis
, % TR

Homeostasis

Homozygous
4. % QoD CINN 230

Question Number : 43 Question Id : 3838232283 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion(A) : Some adult gastropods (e.g., snail) are asymmetrical

Reason (R) : Torsion takes place during development of gastropods

D3)B0 (A) : Q) TEFr 120¢h BFS RS0 GOLro (GTT: S¢)
80 (R) : MFard © DowdsydeS 268 O (torsion)

The correct answer 1s

NJOINENINARNTe)

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 v (A) 0B8A5W (R) @ QBRI (A) 50 (R) QB D50



(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) DHOA (R) &0 DOTON, S (A) H0 (R) DO DIG€ 5°¢»

(A) is correct but (R) is not correct

3 % (A) SODIA R (R) DO 5°¢H

(A) 1s not correct but (R) is correct

4 % (A) DODIA 570 5 (R) OIS

Question Number : 44 Question Id : 3838232284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 ¢3Q) 23508508
List -1 List — 11
NN 200 — 11
A | Mast cells I Internal scavengers
ey eTren) @085 QPONSEEN
B | Macrophages [ | Collagen fibres
Qs Seren FeraS $0e0Hen
C | Plasma cells I | Chondrin
o' Sere 50| &S
D | Osteoblasts IV | Antibodies
ZINOVWARNIOV 1D SEen
V | Serotonin
VEEDS
The correct answer 1s
IS JSINISIN VT ALNT
Options:

1. % A-V, B-lllI, C-1V, D-ll



, % A-Il, B-IV, C-I, D-III

3 % A-IIl, B-I, C-II, D-IV

4. v AV, B-l, C-IV, D-Il

Question Number : 45 Question Id : 3838232285 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Symmetry of sea anaemone is
2 OJTTS FAS0

Options :

Asymmetry
| % ORI0

Radial symmetry

5 % OO0 JPR0

Bilateral symmetry

3 % Q5IE) PRS0

Biradial symmetry
4 v IO BRSO

Question Number : 46 Question Id : 3838232286 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct combinations

1800 a7¢3Q ©¢)50050 TR AB DEA0NOD HBodod

S.No Class Character Example
5. 090 22>(i0 ©5£0 G008
I Anthozoa | Only polypoid form Adamsia
S0RE T | FOD Eraren SFSR | JEmb)alr
[ Cestoda Bifurcated intestine Taenia
RIvins B Do i ¢datr
[ Polychaeta | Botryoidal tissue Nereis
FOLyr | Serondd fproo | 969
IV Crustacea Green glands Palaemon
BT | T8 (Hochen Py IS
Options :
1 % LI
o % 11, 11
5« LIV
a4.v LIV

Question Number : 47 Question Id : 3838232287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Auricularia is the larval form of

3850580 D3 Bo2sEo

Options:



Sea stars

| x QAN SE e (D FBew)

Sea cucumbers

5 o DN BOTOHED

Sea urchins

3 % O3NS @8)Se (D @8)Sew)

Sea lilies

4 % DS ODex (D ODew)

Question Number : 48 Question Id : 3838232288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following
1808 e3R) 23538508
Scientific Name Common Name
T QO N0 ATEE TR0
Amphioxus | Tree frog
&S00S )R TEP 8D)
Echeneis 1 | Krait
LSS (AT NW
Hyla [II | Penguin
o) o0 00§
Bungarus [V | Lancelet
20MSR R)SE
V | Sucker fish
®O0LNDYY T

The correct answer 1s

NOINESN W AYNTe




Options :

. % A-IV, B-V, C-III, D-II

2« A1V, B-V, C-I, D-II

3 % A-II, B-I, C-V, D-IV

4 % AL, B-Il, C-1V, D-I

Question Number : 49 Question Id : 3838232289 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Number of cervical vertebrae in most of the mammals 1s

ey 8% § ScrerdS &oi (AS §3cse Hows

Options:

3. %D

4. % 11

Question Number : 50 Question Id : 3838232290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Flagellum in Peranema is

DO SR E7e50 & S¥0

Options :

Stichonematic

-« REDSETeSS

Pantonematic

2« FOES SIS

Acronematic

5 % AERITE3S

Pantacronematic

4 % O (EQSr¢3E

Question Number : 51 Question Id : 3838232291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements

. Sphaerospora 1s a hyperparasite

I1. House fly 1s a mechanical vector for Plasmodium
[II. ~ Man is an intermediate host for Plasmodium

IV.  Ascaris is a coelozoic parasite of man

808 5°¢3Q ©9¢550H80 TR, OB S @oF e Hdoiodk:
! £))65)5 2.8 e9HHTS), B

I1. JR9BAV0 B0 &S ASTo(3E TE0
ML 299300 B0 O7SeYCR) S83°¢3 55 3 T3ON
IV.  &%60 SrAYAS AIV0T 078 HT°S), 2D

Options :



1.% L 11

5, LTV

5 % LI

4« LIV

Question Number : 52 Question Id : 3838232292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion(A) : Wuchereria bancrofti is an intercellular parasite

Reason (R) : It lives among the cells of the tissues of the host
NS0 (A) : #FO6AD H@.{S"? 2,8 8er0eb8 DT B

860 (R) | 3O 98T §627er®) e NS DSV GOLNOA
The correct answer is

AVJSINPSINIA L NTO

Options:

(A) and (R) are correct. (R) is the correct explanation of (A)
1 v (A) S96050 (R) @0 SOTS. (A) 50 (R) OB DSB8

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HBA (R) &0 DETX, SR (A) 50 (R) BT DeIBe 5°¢0

(A) is correct but (R) is not correct

3 % (A) SBBDAA 5°Q (R) DOTOSE 5°¢H



(A) 1s not correct but (R) 1s correct

4 % (A) DBTIS 57 5 (R) OIS

Question Number : 53 Question Id : 3838232293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In man Microsporum causes

S8’ DE)F0 BAJ EDAN0H

Options :

Filaria

|« POOAST

Typhoid
2 % DrONG

Ringworm

3. ¢ %00

Malaria

4. % NSO

Question Number : 54 Question Id : 3838232294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[t interferes with the transport of the neurotransmitter dopamine

280 BIDS ©F 3G DT E0 e K50 TNE0EN0A

Options:



Cocaine

1 v S8

Charas

2. % O

Heroin
3. % 00

Morphine
4 % PO

Question Number : 55 Question Id : 3838232295 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In cockroach, wings are elevated by the contraction of

5008 S BE)en DE BI@8 & 500 HOEID 580

Options :

Dorso-ventral muscles

1 v VLAY ocsoren

Alary muscles
5 % 05O Socdoren

Dorso-longitudinal muscles

5 % DR BSOS F0dTren



Adductor muscles.

29038 Sosoren

Question Number : 56 Question Id : 3838232296 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In cockroach, inspiration takes place through
SE0E S &) 500 DD 7 50° 2EHDSA0E

Options :

Abdominal spiracles
| % SOB0S R FI0S0TeN

Prothoracic spiracles

5 = PSS, F5000(Pew

Thoracic spiracles
3 v & B IA00(°eN

All spiracles
4 % ©OQ) TIO0|°D

Question Number : 57 Question Id : 3838232297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In an experiment, Malpighian tubules of a cockroach are removed. Which substance
might be absent in its faecal pellets?

28 (HTBrK0S’ 2.8 FQ0E &S SrdIcHS TP SORoTH. T HOHTY
20830’ 2 HG0 &oSE?

Options :

Undigested matter
1 % 28Q0 5 dIYeN

Urea

2. % OVrOA®

Uric acid

3. v 0008 eso

Undigested proteins
4 % B30 R (Fe3en

Question Number : 58 Question Id : 3838232298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The influence of light on non — directional movement of organisms is known as

290 AR VOO N 570 Sentt R (DR, & IO F)0erE
Options :

Phototaxis

1. % 5°0e e@NVOS0

Photokinesis

2« 5P0e3 @S0



Phototropism
3 % 5003 @NIGS0

Photoperiodism
4 % 5°0€ 5O

Question Number : 59 Question Id : 3838232299 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement I : Acid rains are due to pollution of sulphur dioxide and nitrogen oxides
Statement I  : Incinerators are used to dispose electronic wastes

030 1: 80D ST©F TEEI0 )0 BATFEIR, N$H23R B3 IH © TeN R
@050 II: JO|FTAS S5T0& Sofodads Hadse ahoEen GHRTFITE

The correct answer 1s

NONFNN AN

Options :

Both statements [ and 11 are correct
1 % @07 I HBAW I T

Both statements I and Il are false
5 % @03 [ QDO I AT 5°¢H

Statement I 1s correct. But 11 is false

3 v @030 [ ABRA. 5°Q I OTIE 570

Statement [ is false. But II is correct
4. % @030 I ODAD 5°N. 5°R 11 0TI



Question Number : 60 Question Id : 3838232300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 57¢3Q 236508508
List— 1 List — 11
e - | e - 11
A | Neuston | Dytiscus
TS0 G0
B | Nekton I | Daphnia
VRN ar) Ave
C | Benthos [I1 | Hydra
N UG
D | Periphyton | IV | Dineutes
RDODETS Balrged)
V Chironomid larvae
3OS E Aossren
The correct answer 1s
SO IS NV AN o)
Options :

| @ AV, B, C-V, DI

> x A-IV, B-I, C-II, D-II

3 % A-lll, B-V, C-I, D-IV

4 % A-Il, B-I, C-V, D-III

Question Number : 61 Question Id : 3838232301 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The enzyme present in the gastric juice of infants is
209 388 800 &' GOT VOB

Options :

Renin
1. % 6:%5_-" (Renin)

Trypsin
5 % (830

Peptidase
3 # ?::-%}5;33"

Prorennin

4 v BP0

Question Number : 62 Question Id : 3838232302 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion(A) : During inspiration the rib cage and sternum lifts up causing an
increase of volume of thoracic cavity in dorso - ventral axis

Reason (R)  : Due to relaxation of muscles of diaphragm, the volume of thoracic
cavity increases

ANS0 (A) 1 GE)50 0L HEEL B, GTY D8 B0 SO GB:8T80
2)FRTENT DTO0 ©e)eh0H
000 (R)  : Deras J&e $040°eN NBeR0 JO GO:50ar00 2F°00 )00

The correct answer 1s

Q0N QaTN0

Options :



(A) and (R) are correct. (R) is the correct explanation of (A)
1 % (A) DO (R) @0 SODAN. (A) 30 (R) DO 23E€d

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) SHBAW (R) €0 DOTSD, 5% (A) 80 (R) OIS DedSea 5°¢0

(A) 1s correct but (R) is not correct

3 v (A) DBBDIA 5 (R) DB 5%

(A) 1s not correct but (R) 1s correct

4 % (A) DBBIS 5°¢% 5% (R) OIS

Question Number : 63 Question Id : 3838232303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Statement I : In foetal heart in human beings, the inter atrial septum has a pore
called foramen Manro
Statement II : A fibrous strand, known as ligamentum arteriosum is present at the
point of contact of systemic and pulmonary arches in human heart
©030 [ 0% B35 AT K0T &' §05°088 HOEPE FTRS (S
©3 30(850 SOLNOA
@od0 Il SRR KOBS Bors T30, a0 0 a8 rRATEES &8 Se
OiiZ00 80BErE0 ©F S00NS 827 GotNoE

The correct answer 1s

INJOINENN U ARNTO)

Options:

Both statements [ and 11 are true

1 % @OTEN 108N I OB



Both statements I and I are false
5 % €0 [ DA IT OB 5°)

Statement I i1s true. But 11 is false

3 % @030 [ AVIA. 5°Q 1 AT 5°CD

Statement | 1s false. But II 1s true
4 v @®OF0 1 OB 5°CN. 5° 11 OB
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Excretory organs in adult molluscs are

BV B0 TOAN DG 22690 DOPSHATEN

Options :

Malpighian tubules
1 % STOHACHS TPEen

Green glands

5 x 0 |Hogoen

Coxal glands
5 % S8 (Hoghen

Pericardial glands

4 v TYBATHSED (HOCHED
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Regulatory proteins in a myofibril are

E088 8 2 $00HS D daHo|he (eSdven

Options :

Actin and myosin

| % D88 S8 SHTFRS

Troponin and actin

L x [ESDDS 0005 DES

Troponin and tropomyosin

2 v [ESDDS 005 (DTS

Actin and tropomyosin

4 % D8 DOAW (TFHTPS
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Study the following and pick up the correct statements

1308 &R @500 TR, DTN @oFe HO0I0d
L. The centre of the posterior portion of the retina is called macula lutea
D5 DI DT°08S NS 2P, LS80S eE3ah @OErS)
II.  The site of retina where the optic nerve exits the eye ball is called blind spot
S HOO0S T ST EO 2P, @0 ) WOErSd
[lI.  Cones contain a visual pigment called iodopsin
$02) $ToS OTBEEN IS O G35 SG50 G0ENod
[V.  Rods contain a protein called rhodopsin
&0d $erod Sara)d oF (¢3S eotnod

Options:

[ only
1w 1S

[ and II only
5 x 10805 I S|

I, IT and III only
5 = L 11 0805w HI S5

I, IL, Il and IV
4« L 11, T 0003w IV
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Study the following and pick up the correct combinations

308 arE3R ¢ 50HN0 TR A8 NEA0YLN Hhiowod

S.No Hormone Gland Disorder due to hypo/hyper secretion
.00 FB o8 90) | 90 350 50 $OTF e
[ | Somatotropin Pituitary gland Acromegaly
FEES | ok Hod 5o
[[ | Vasopressin Pituitary gland Diabetes mellitus
SHDNS | Skl (fod AorDES DOLR
[l | Glucocorticoides | Adrenal glands Addison’s disease
rEOronden | 9% [Hodhe e SABRA
[V | Calcitonin Parathyroid glands Cretinism
SONATAN 0 Borond (foden | (33Rz

Options :

| w LI

2w 1L IV
3. % L 11

4w 1L 11
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Chemically oestrogens (oestrodiol) are

SPODQZOMT Si B (&3 F°BBrO) e

Options :

Amine hormones

| % O I*T80en



Peptide hormones
, 5 R ITpden

Steroid hormones
3 v NOOWE I Pen

Protein hormones

4 % (8F¢3S 5582060
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Match the following

1808 3R 2608508
List—1 List-2
AL (AL,
A | Primary lymphoid organ I Kupffer cells
PGS QoG @500 50700 eren
B | Secondary lymphoid organ [I | Bursa fabricius
858309 Ooron ©50050 20T°) TN
C | Mononuclear phagocytes Il | Leydig cells
2% 0|98 25E & Seen OAR Seren
D | Auxillary cells [V | Tonsils
& Sair Seren ErRIO)
V| Mast cells
Q) SeTen

The correct answer is
BN NFPLT0

Options :



1 ¢ A-Il, B-IV, C-I, D-V
> % A-Il, B-IV, C-lII, D-V
3. % A-V, B-I, C-1V, D-lI

4 # AL, B-I, C-IV, D
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These glands of female reproductive system of human beings are homologous to the
bulbourethral glands of male

ST [ 2SE0IO0D S50 G H10CHe) HEWOS'D 2 hrd|SS
((felaVSIVPANA: o)

Options:

Bartholin’s glands
1 v 20O Hogoen

Skene’s glands
5 % O (oghen

Prostate gland

Seminal vesicles

4 % DSFATTEN
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Pick up the incorrect pair

5 )T ) 23e¢5ad 0o oH
Options :
Gonorrhea - Neisseria
1 % (IJ0asT JT6av
Syphilis - Treponema
2. % VWOV (DS
Cervical cancer - Herpes simplex virus
3 v (10°)F0 0P &° 50 5°)0 °0)Q V08 I8
Genital warts - Human papilloma virus
4 % BOT0H $0ehde TS TS EE SED
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[f a man with blood group A (homozygous) marries a woman with blood group B

(homozygous), the following blood groups are not expected in their children

58 S80 A (M6 05016230) 0 HBAE, 38 80 B (e 050i13220) ¥ (A

ATTSrEB, 38 o0 1808 88 STeN &0

Options :

1. %



A and AB only
A 805 AB Sr|ehadd

A,Band O
> « A, B8a» O

B and AB only
3 » B 08N AB S(edad

A and B only
4 % A DOAW B S5
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Karyotype of Klinefelter’s syndrome is
3SR Jo(ESD BwE) SFOBFBD

Options :
1. % 45(X)
5 % 47(+21st)

3. ¢ 47(XXY)

4 % 47(+13")
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If sex index ratio in Drosophila is 0.33, the sexual phenotype of it is

(BT’ 0K HrDE AD)E 0.33 wand o ol Erdo

Options :

Metamale
1 v O KA 2D

Metafemale

, % OO Q2D

Female

3 % L‘f’g 223

Intersex
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Eusthenopteron 1s a transitional form between

QAIPDT ROH D 0§ Es0edS BIH0o

Options :

Fishes and Amphibians
1 @ TIEN HOASW er2oNITED

2. %



Amphibians and Reptiles
E2500DITEN DA HBDYIew

Reptiles and Aves
3 % QBOYEN HBAKW HFveN

Aves and Mammals

4 % DFoen B § Scren
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Statement I : Absence of gene exchange between populations is called reproductive isolation
Statement I1 : Natural selection is the driving force of evolution

©0§01  : 2O DS BRg 0B BEHNOE GOGET) (D5 )
o8¢ @oerth
@030 11 : HBNOS (8 S8830 2.8 ek 38

The correct answer 1s

Q0N NP0

Options :

Both statements I and II are true
1.« @03 [ O 11 V230

Both statements I and Il are false

2. % @O [ DO 11 Q230 570

Statement [ is true. But 11 is false
3 % @030 [ 0230. 53 Il V230 53¢



Statement I 1s false. But I 1s true.
4. % @030 [ 0230 5°C0. 5 1l 230
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Hardy — Weinberg law is applicable to
S5 — IS Sreso HAE S8NoH
Options :

Small population

| % DY) DOXre0sS’ &oT BTy

Large population
5 v NP J8Ir0S GOT BT

Very small population
3 % O D) DOIr0S GOT BT

Small community

4 % V) BISd0Trao
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Assertion(A) : Continued close breeding usually reduces fertility and even productivity
Reason (R)  : Inbreeding depression
QFIB0 (A) : SEHT 207 @& D) TS |DBSTO SO DO §3 sHhoE
GE )08 Sre Sihesod
SO0 (R) : @08 (DB Sr0s0

The correct answer 18
NOINESN(ARNTG)

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 v (A) OO (R) @ SORDDD. (A) 80 (R) QEQD 235D

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HBASW (R) €0 DBTDY, SR (A) 50 (R) DOTS eSS 5°¢0

(A) is correct but (R) is not correct

3 % (A) SBBXA 5°Q (R) DBTSE 5°¢

(A) is not correct but (R) is correct

4 % (A) DBBSE 5°¢% 5% (R) OIS
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In an ECG of a normal healthy person, the duration of R-R interval is about Secconds
B0 SHB0 STSIreNTT &) 358 ECG &' R-R 08¢ 5736 RN
Options:

1.% 0.12

2. % 0.08



3. « 0.8

4. % 0.4
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Match the following

1808 ¢3R 2368 HBH0S
List 1 List -2
A e -2
A | Epithelial tissues I Leukemia
GSP® §E2ereN eNSOST
B | Connective tissues Il | Carcinoma
HOTBress Eeaereren 528 ) 3
C | Bone marrow Il | Sporadic cancer
Do oY BB DN 5530 ex
D | Non hereditary IV | Sarcoma
299038 TOSA SEOPIN
The correct answer is
MO INPSINARNTe!
Options:

1. % A-1l, B-1V, C-I, D-I

, % A-IV, B-lI, C-lII, D-I

3 % A-IIl, B-I, C-1V, D-II



4. v A-ll, B-1V, C-I, D-III
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A supposition without assuming that it 1s true 1s

0NN NOT E2T DOLVOTD SN0 WNTS 2.8 02T

Options :

a hypothesis

| v 28 DBED)S



an axiom

5 % 28 89S0

a model

3. % 208 RITD®

a postulate
4. % 208 €OTCIN
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The density of a substance of mass 5.318 g which occupies a volume of 2.43 em’ s
(up to correct significant figures)

2.43 om’ 9HB7E0 e(EN0T 5.318 g (555073t 2.8 Hrrdo G
0|36 (OB AP NoseS)

Options :

1 % 2.188 gem”
,  2.180 gem®
3¢ 219 g cm”

4 % 2.18 gcm”
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Pebbles are dropped freely for every half second into a river from a bridge above it.
When the first pebble is about to strike the surface of the water, the fifth pebble is
dropped. Then the height from the surface of the water from which the pebbles are
dropped 1s

(Acceleration due to gravity = 10ms™)

28 S0 2 50 H0B D OB HOFTFID (Ded @8 8 2,83 150
SOGRE LI ST . IS Hes Tan A Serd) &K
DROITRE oY KO TPoNd) SAETED. BON, A& S©03) DO HOE
T JOON )

(108§ & ¢80 = 10 ms™)

Options :
1.+ 20m
2. % 31.25m

3.% 125 m

4. % 80m
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A cannon fires two similar shells one after the other each with a velocity of 100 ms”
at angles 60° and 30° respectively with the horizontal such that they both hit the target
at the same time. The time interval between the firing of the two shells 1s

(Acceleration due to gravity = 10 ms ™)

2.8 DB0A 2,8 8530 B K0 100 ms™ SHOS SEAT § 823 HSroSTR8
60° 0805 30° © §0S, B I8 28 8 SHENSENT DOIAJ.
BOc 2B0A HOBR DN I8 DS TOSLIA

(DS $ ¢ ¢80 = 10 ms™)

Options :

1. % 6.57s
2. 7.32s
3.¢ 828s

4.% 3.14 s

Question Number : 85 Question Id : 3838232325 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A 60 kg man standing on a bridge, jumps vertically down on to a 540 kg boat moving

in the river below him with a speed of 10 ms” . The change in the speed of the boat s

28 50805 A eI 9, 60 kg © 58 , 1808 SO 10 ms” $&S
$5000tR) 540 kg © D8 DA ey (§0H8 Brseedy. Hehed Tg),
SASA T8

Options:

1 % 9ms’



2. % 10 ms']
3 v 1l ms’

4 % 0.9 ms’
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A body of mass ‘m’ tied to one end of a string i1s whirled in a vertical circle of radius
‘R’ with zero tension in the string at its highest point. The angle made by the string
with the vertical when the kinetic energy of the body becomes half of its maximum
kinetic energy is

28 T80 DG ‘M’ (S550°7 O 28 S0 §¢83 Densy deo &S R’ Fgardo
K0 S9BSE 8L S HBR ) 58 TS R Se5eh NT™) HSENT B 5.
500 fiedes 38 Q) 50 B3z 38 S 0 oI, 80 § B2 ©00S
ok 8690

Options :

6= Cos" (lJ
1. %



0 =Cos [l]
2
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An incompressible fluid is flowing through a tube of uniform cross-section.

The increase in the power of the pump required to double the rate of flow is

28 V0TS (B0 2.8 DSOS DB5TIS SFe5080 FE0 0
DSORGB, (> Tened Bodosen TOMEK D05 A0S
POMHA®

Options:
1. % 200%
2 % 100%

3. ¢ 7100%

4. % 800%
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Two solid spheres of radii " and ',' (r, > r,) made of the same material are kept in
contact. The distance of their center of mass from their point of contact is
2.3 DGO TAHAS ' B0 ' (1, > 1) FERPTe K> Bok 50

Feren 2,50 86 FHHNENT GoAN. & Feren &8) Hothe) S
DOG 3¢3 |K9:350°7 S0|¢50 THE) Srdo

Options :

rﬁ (p+r,)
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An arc making an angle 15° at the center is removed from a ring of mass ‘M’ and
radius ‘R’. The moment of inertia of the remaining ring about an axis passing through
its center and perpendicular to its plane i

M’ |55, ‘R’ F§arG0 o) 2,8 08890 08, 30630 & 15° 8620 T
2.8 TR SR, §0880 30((30 )08 Fhehr, Berd8 00T GoR
8.0 DGO, A §08620 TREY 2686 § (27030

Options :

1.



23 MR’

24 MR*
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The displacement of a particle in simple hormonic motion is given by

X=A, cos [%t} The distance travelled by the particle in the interval between t =2

to t =5 seconds and its position at 5™ second are
NS T8 SOS0E &) 28 8690 T, FB0%0 x= A, cos [%} 0

29 §ABNE. §690 =2 D0A t = 5 VIO NS (DASTEIODN BP0 A
535 2550 S0 T S0

Options :

A and mean position

e A, B0 SPS5E FS0

A and extreme position

5 % A, DOAW 0SS0



3A, and mean position

3 v 3A, 0BA5N SE§E Y30

3A, and extreme position

4 % 3A, HOAW ®Ooes S0
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The ratio of the values of acceleration due to gravity at heights h, and h, from the

surface of the earthis 16:9. Ifheight h; =2R, then h, =

(R is the radius of the earth)

&> &80 DO hy HOAM hy O G NS ¢ JEETS Dender
QAN 16:9. % h, =2R; @ow, h, =

(Rg drarsargo)

Options :

1. % 4RI'€
« R

3.

4, ® 6R E
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The ratio of the lengths of two wires A and B made of same material is 2:1. The
diameter of wire A is twice the diameter of wire B. If both the wires are stretched
by same tension, the ratio of the energies stored in wires A and B is

2.8 H008 SAFE ToHAAS A OO B 810 ) A 2:1. &
A BE) P50 1 B arsnr8 BE05). BOck S0 2.8 35S BN,
A 805 B 8o dos &) Fhe e

Options :

1. % 1‘4

2. ® J2]

4. % 18
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Two spherical rain drops of radii in the ratio 4:5 are falling vertically through air, The

ratio of the terminal velocities of the rain drops is

TEPTO A 45 fo Bod Fersd S8x Dodvden mOS 8o

HADG) Q. 385y Dot BB Frre AN

Options :

1. % 64:125



5 »16:25

3 ® 4:5

4. % l:]
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A Tiquid drop of diameter 2 mm breaks into 125 1dentical drops, then the change in the
surface energy is

(Surface tension of the liquid =70x10~ Nm™)

2 mm a0 e 2.8 (e D0&a) 125 N8 S Nadra) 0T S &,
&880 38 'R el

(1000 5eeda)§ed = 70x10~ Nm™)

Options :
1 v 3.52x107° )
5 % 1.76x10° ]

3 % 2.48x10° )

4 % 5.27x107° ]
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A metal block of mass 120 g is heated to a temperature of 100°C and placed on a huge

block of ice at 0°C. The specific heat capacity of the metal is 0.12 cal g™ °C" and the

latent heat of fusion of ice is 80 cal g™ . The mass of the ice melted is

120 g (35077 B0 28 378y B0 100°C &85 FA TR T

0°C €s8f1e 3¢ e 2.8 098 D 0T AR D GO, S’ DIeFa
3850 0.12 cal g™ °C" 8050 S0t (B3NS DFR0 80 cal g, @9
800 0T (De§0°7

Options :

1.%98
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A black body at a temperature of 125°C, emits heat at the rate of 32 Wi, The rate
of heat emitted by the body when the temperature of the body is increased by 398 K is

125°C &58¥(116 56 Ko 28 €39 58069 32 W™ Bené &5ard) &@50 Towep.
30e) G (116503 398 K 200N, Side) &GP0 T &ad0 0

Options :

| % 64 Wm™



5 % 128 Wm™
3 5 12 Wm'z

4 % 256 Wm™
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The temperatures of the source and sink of a Carnot’s heat engine are 27 °C and

127 °C respectively. If the absolute temperature of the sink is decreased by 10%, the
efficiency of the engine

28 58 &a) 0H0(B0 S'R GalrFoH0 HB0HH FSerFare Gafiden SEHOm
27°C S8k 127 °C. Feber¥oHo gy N8 &S 10% SHod,
0DO(e50 QNG ¢H5.¢8

Options :

Decreases by 32.5 %
1. % 32.5% &S

Decreases by 7.5%
5 % 1.5% SH

Increases by 32.5%
3. # 32.5% 00N

Increases by 7.5%
4. ¢ 7.5% 228NN



Question Number : 98 Question Id : 3838232338 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A uniform narrow tube of length one metre with one end closed contains 25 ¢cm long
mercury thread, which traps a column of air at the closed end. When the tube is held
vertically with the open end up, the length of the air column near the closed end 1s
21 cm and when the tube is held horizontally, the length of the air column near the
closed end is ‘L. If the atmospheric pressure is equal to the pressure of 75 cm of
mercury, then L is

2.8 ) &8s OB, 28 By e &) 2.8 D)3 TS’ 25 em cheyiie
28 FOBN B0 SR &) VNG SIS ™ Joar) HERSHenthHeRH0d.
800 &) T D8 G0 MEFQ) § 32 ©020m G0N )R PR &)
T8 AHE™ &ed) O D050 &rched 21 em. TR § 832 NdPOSBOM™ GOV,
QPNED) FSK SHE™ &) O D080 FEY ‘L. FES8E %S0 75 em
P BBR DETRE DeST800, L Denss

Options :

1. % 35c¢cm

5 « 28 cm

3 % 7 cm

4. % ]4!:”]
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If the tension applied to a string is decreased by 36%, then the fundamental frequency
of the transverse waves of the string 1s

28 O3 (TP 2B SS5e5e% 36% SO, S BESE SdBorre
(PGNE D0) 50

Options :

Increases by 10%

1. % 10% 22BN

Decreases by 10%
5 % 10% &SP

Increases by 20%
3. % 20% &M

Decreases by 20%
4 v 20% SHO
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The frequency of sound heard by a stationary observer is f;, when the source of sound
is approaching the observer with a speed of 10% of the speed of sound. If the same
source of sound is moving away from the stationary observer with a speed of 20% of
the speed of sound, the frequency of sound heard by the observer is f>. Then fi: f> is
2.8 52 2580, o0 VB & &) 2.8 HOTOKAS §2) SAS' 10% SES S
SNV ) ), H830%HS I 32 )80 fl. OB 32 2350, AT
NAS &) HBTOREG 0B 32 SAES 20% SAS SrEore BEHDD) I
0% D 32 3)050 f2. @O0 fi: f

Options :



1.$]:2
2%91]
3@4‘3

4% 118
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A boy of height 1.2 m is standing in front of a large concave mirror of radius of
curvature 20 m at a distance of 40 m from the mirror. The distance of the image of the
boy from the boy is

SE& 500 20 m fie) 2.8 VW JEFSY G860 00 1.2 m ) o) 2,8

2o 8690 08 40 m &rB0S Ao G . rend Hod rend
e300 AW}, Crdo

Options :

40
—m
1.% 3

80
—m
2.4 3

20
—m
3 % 3

4. % 40 m
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A block is placed in front of a convex lens as shown in the figure

HEI0S TR SO 2.8 AR 2.8 )0275E E650 SN0 GoIB0H

A
B

o
L

=
-

J

Choose the most appropriate image of the block from the following options

1808 0 HOGR AR T3nE) @506 AT |DBD02TY) JotHEod

Options :
F
- —.—'-—.7
1. %
I,‘_
" & .—-q_
2F F 2F
2.



o F ’ . B
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When unpolarized light incidents from air on another medium at an angle of 60°, the
reflected light is completely polarised. The refractive index of the medium is

2.8 9%y 508 M OB HTE ArE0 DS 60° Fea08 DS,
DTN 0 JJOT G A, O A8 é@e;ﬁéﬁ) heago

Options:

v 3

2 % V2
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Two identical balls having like charges placed at a certain distance apart, repel each

other with a force F. When they are brought in contact and then moved apart to a

distance equal to half of their initial separation, the force of repulsion between them

becomes 4.5F. The ratio of the initial charges of the balls is

N2 533500 EORS Boch N85 e5r 206 Foe Srdos

G0N T3 9695 8T 22030 F. Te3R) 2.8m308%4¢E3 @800 & ebSoared

T D¢ BrE0) SO EPB0ES SN TSI a3 s DEGeD 2085

4.5F @00, @o0d 3¢ SO 533300 A

Options :
1.¢ 2:1
2 % 3:1

3. % 4:1]

4. % 6:1
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The capacitance of a parallel plate capacitor is 1.5 uF . If the distance between the
plates 1s halved and the space between the plates is filled with a medium of dielectric

constant 3, then the new capacitance is
2,8 NP0 D©FE TR0 TNE) SPVR) 1.5 HF. 080 NG)§ ArTR)

N0 TR, D8 ¢35 FEE DT080 3 ) 2.8 A5rSEnS Ao, &'
SN

Options :

1. i’ 4.5 IJ.F
, % L5yF

3.v IUF

4. % OpF
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[f the relaxation time is doubled and the applied electric field is tripled, then the drift
speed of electrons
DT F©0 BE305) TOHA, ©HS00DN NS (50 sy BEK

OVRAS, JOFTN (B 56
Options :

becomes three times of its initial value

1 % O SO DeNNFY NI TEY €95)e0E

2.



becomes six times of its initial value

Q) ) JENNZL e3¢ BLY e99)e0H

decreases by six times of its initial value

3 % O SO eI ey TeY PO

becomes 1.5 times of its initial value

4 % O SO DeNIK 2,5¢35) 8 BEY 0Yehod
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Two equal resistances are connected in the two gaps of a meter bridge. If the
resistance in the right gap is doubled, then the change in the balancing length is
B0¢H) H87S AFTO, D65 1DE Both YOS’ EOFN. H& IS

AT, BE05) TN, HOKON FBHS R Sr8h)

Options :

20
— Cm
1. %

40
2.% 3

100
3.% 3

50
4.4 3
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A current 1 flows through a circular loop of radius R. The ratio of the magnetic field
produced at its centre to the field produced at a point at a distance R\3 from its
centre on 1ts axis 18

R 50 60 28 S9Ts8 ardeS i S (a0 K. e 3060 ¢
90D, 0 TS0 OO &S 9% 0 R $0¢50 & RY3 ¢rdos
&) Doty 3G & )18 TOHAAN D)0 3 (50 TnE) AN

Options:
1. ® 1:8
2. v 8:1

3. 1:4

4. % 4:]

Question Number : 109 Question Id : 3838232349 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Two particles of charges in the ratio 1:2 and masses in the ratio 2:3 moving along a

straight line enter a uniform magnetic field at right angles to the direction of the field.
If the radii of the circular paths of the particles in the magnetic field are in the ratio
3:4, then the ratio of the initial linear momenta of the two particles is

370 112 ) B0 [BS507Hen 2:3 S & e Bock Seren 2.8
D308 ©90HR),06 3|50 A8, T |SBFE ©020M (NS0T, @OHRT)0
5SS $T0 SYTTE SFTO FPTO A 314 ons, Bock e
SO BDoH (507D A

Options :

1. ® 151
2. ® 3:4
3.+ 3:8

4. ® 23
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Magnetic field on the axis of a short bar magnet of magnetic moment M, at a distance
x from its centre 1s

( M, is permeability of free space)
0D 06 (27050 M EOA 2.8 &8¢ 0maDar) 0650 TBng) 5.0 add,
& 301850 08 x BEr8oS ©0Hr) 08 3|80

(288 1, IO VIT)0S0°¢ DOI0HDOE)
Options :

n,M

o

1. ¢ 2mx?



4n M

3
4. % TX
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The self-induced emf of a coil is 36 V. If the current in the coil is changed from 12 A
to 24 A in one second, then the change in the energy stored in the coil is

2,8 3 THE) TR0, 21000 (DK emf 36 V. 3§ HEES D03 [Harero 12 A
508 24 A % 2.8 EDS’ S18, 83 B’ Aot GOT 38 SR P

Options :
|~ 648
5 % 462

5 % 486 ]
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The quality factor of a series LCR resonant circuit 1s 75. If the resistance 1s decreased
by 50% and the inductance is increased by 100%, then the quality factor of the circuit is

28 383 LCR 078 S00H80ES Heasd0o Dens 75. 50508 AFE0
50% 5000, [8e 50 & 100% DO, 3005 HEISEO e

Options:

1. % 150

, » 15042

3. % 300

4 % 30042
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The ratio between electric field energy density and magnetic field energy density of
an electromagnetic wave, in its region is

(c — speed of light in vaccum)

DESSAY08 SB0K H06 & D s b 38 Fo|dS HBA
©0H,08 3| 3§ rodse )

(c - P30S 508 SA)

Options :

Z.Q{III
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Two photons of energies 2.5 eV and 5.5 eV incident on a metal surface of work function

1.5 eV. The ratio of the maximum speeds of the photoelectrons emitted from the metal
surface 1s

2.5 eV B0 5.5 eV #5en ey Bo Ferad 1.5 eV ) (20w e 28
SFNSO0D S50 ToAI. S3TNS00 D08 INST F0 JO[FHO

(052 SCHO AN)E

Options :

1. % 1:4

2. 1:2

3. 0% 1:1

4. % 5:11
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In Bohr model of hydrogen atom, if the difference between the radii of n™ and (n+1)™

orbits is equal to the radius of (n—1)" orbit, then the value of n is
56 B HE8ren SSFS n O (n-+1) & 88 50 FIPP© S,
(n-1) & 5.5 FSPPaIE0 AT, n e

Options :

1. %1
2 # 2

3.« 4
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In a nuclear reactor of efficiency 25%, the number of fissions taking place per second

is 5x10" 1£ 200 MeV energy is released per fission, then the output power of the
reactor is

25% 5% &8 fie> 2.8 T0|9% BOSrED & 8% 5x107 D )ven 38MHTHSY.
2.5)8) A0S S0 TGS 48 200 MeV @00, OArED A aradPsan

Options :
1. # 6400 W

2. % 1600 W

3 % 800 W



4.« 400 W
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[n a radioactive sample Z\EXIO3 nuclei reduce to 10 nuclei in 15 minutes, then the
half-life of the sample in minutes is

2,8 BATr 028 Hrdsnes W2 x10° Zo\gs&smen 15 ddwdswods' 10°
30355060 00, DY ©F B O ANANOS

Options :

1.% 5
2.« 10
3 %15

4. % 30
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Three logic gates are connected as shown in figure. If the inputs are A=0, B=1 and
C=1, then the values of yi, y2 and y3 are respectively

S0 ). T 50700 DO TFN DGO EoNATOW. JuFen A=0,
B=1 0800 C=1 @0ond, yi, y2 HOOIW y3 N SEIQMT

—D
Vi
-

Options :

;% 0,0,1

R4 I P |

3.$ 1,0._,[

4.%1,1,0
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The power gain of a transistor operating in common emitter configuration is 32,000,
[ the input and output resistances of the circuit are 1200 € and 6000 (2 respectively,
then the current gain is

€5e03 GTPSE D500 & HA TOS) 28 € INE ~FEs SGee50
32,000 300500 D3, A ABGLWEN BT 1200 Q HOAN 6000
EONN), (275> @

Options:



1. % 8000

2. % 800

3.« &80

4. ® 6400
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[f two linear antennas having lengths in the ratio 2:3 are emitting radiations of

wavelengths in the ratio 8:9, then the ratio of effective powers radiated by them are in

the ratio

FEHEN 2:3 AAIBS' 110 Boh BDOH BoBT) ) 0B 8:9 ANBS' S80S
395060 1) DSBETEN GHPE DOV, ¢S VYD (eFareh ) TS
)8

Options :
1.+ 9:16
2 % 27:32

3 % 16:27

4, % 32:18
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Electromagnetic radiation has electric and magnetic field components. These two

CD]'I'I]')OI'ICHIS

DIACHT08 N8BESNNE S HOAH @AHAH0S I ©oFen

G0N, € DO @0TON
Options :

have same wavelength (A), same frequency (v), same speed (c) and same amplitude
a3 SEONTII0 (1), e BPedae)ed30 (v), P BHO (c) sDBAN WP
1. v BONH0E Gosran



have same wavelength (1), same frequency (v), same speed (c) and different amplitude
P SEOUBY0 (1), NP FdeeId50 (v), e R0 (c) DB )
BOSHONSIEN GOLFOD

have same wavelength (1), same frequency (v), same amplitude and different speed
DTS SBOABEI0 (1), NP Y50 (), Nr BOSHONS O
3. % ) M0 (c) &0 GOoLrow

have same frequency (v), same speed (c), same amplitude and different wavelength (1)
QTR TR0 (V), DT SHO (¢), DT 550 SHB0% AN
4. % S0HBQS0 (1) &0 GOEron
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The wavenumbers of first three emission lines of Lyman series of hydrogen spectrum
are respectively (v,),,(v,),,(v;),. Similarly, the wavenumbers of first three emission
lines of Balmer series of hydrogen spectrum are (V)),,(V;),.(V3), respectively.

[dentify the correct relationship

TERS 3¢ 5005 B (FIS R I ek GT6 Bpe
SE060250 SEONT (7),,(7),, (1), 07T REBS ¢ 008 2r0b

35S I3 Surcd &GRS B SBOBN0IEN SETT (7)) (7).
QO NoDOTR) HBoSod

Options:

1. % (Fg).e :5(1’73),.{

2. ¢ (V3), = 5("_’3)5



#® (]’7| ]';_ = S(F:]B

4. % (17-.}3 :5{F|)If.

e
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The first 10nization enthalpies of the elements X, Y, Z of second period are 899, 1402,
520 kJ/mole respectively. X, Y, Z respectively are

B0t OCHE SR X, Y, Z irese (D6 oTBWFEAS o)t SHOm
899, 1402, 520 kJ/mole. X, Y, Z €2 oY

Options :
. = Li,Be,N
2. Be, N._. Li

3. % Be,Li, N

4 « Li, N, Be
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The number of amphoteric, basic and acidic oxides among the following respectively
are

80& 255288 73S B 50 5279, 56 HBOKD 8 &3 )8 © HoPED HET
Ct0,, Mg0, K,0, B,0,, ALO,, In,0,, PbO, As,0,

Options:

, x 32,3
> ¢ 3,3,2
3 % 3,4, 1

a4.%2,3,3
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Identify the correct statements

(1) LiF has more covalent character compared to KF

(11) Dipole moment of NF is greater than that of NH3

(iii) The bond order is same for F2 and 0,*

(1v) lonic compounds possess low melting and boiling points
DO arss0h HBoTIok

(i) KF & 838 LiF 40 N03Braaoh 0560 809
(ii) NF3 § NH; §0T 856003 (27080 80309

(iii) F2 ea0BO 027 ©8) 208(Ea00 a0

(iv) @OFE DTTD ©O) (GBS HOAD TS FTOK
$6)05N0EFoN

Options :

1. %



i, i1, iv only

i, i, 1v 337 e5o0

i1, 111, 1v only

5w 1, il v (S

i, iii only

3. @ 1y iil Q375D

i, iv only

4 % 1y 1V (S
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Which of the following sets are not correctly matched?

B0& & Heden HBMT 2368 TONDRSEN?

Molecule Hybridization
(ELAWN) (H0¥BEB0)
(i) XeF4 dsp?
(ii) BrFs spd?
(iii) PFs sp’d
(1v) SF4 sp’
Options :

i, iii only

5 s i, il SS(€5



11, 1v only

3 % 1, IV S5

1, iv only
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At 400 K, the following graph 1s obtained for x moles of an 1deal gas. x 1s equal to

(R = gas constant, P = pressure, V = volume)

400 K 3G, x IO © 2.8 83¢8) aroineg (808 (Mo 00008, x de0s Bl
DaPeSa0? (R = 050 RT0E0, P = 3530, V = $0850:5meassn )

P

T slope =m

- Vi
Options :

m
1.v 400R

400R

2.% m

3 % 400mR



4. % 400mR
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[n Ostwald process of manufacture of nitric acid, 12 moles of NHy was completely
oxidized in air by a catalyst at 500 K and 9 bar. The resultant NO(g) was completely
oxidized to NO»(g) and dissolved in water to form nitric acid and NO(g). What is the
weight (in g) of nitric acid formed?

(N=14u;0=16u; H=1u)

8759 HOBS T(¢36eho SOIr8S 12 30 © NH; Q 28 &(B)58 e 06
500 K 200050 9 bar 5¢ 370 es8)55800 0TS, 388 NO(g) & 538
NO:(g) ™ 818880 0D ASS §6RodE J(edsso SHBAM NO(g) e
DEIFOW. D6 B35 2780 (g ©) N0S?

(N=14u;0=16u; H=1u)

Options :
1. % 756
2. % 378

3.« 504

4. ® 252
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Observe the following two statements
[. For an 1solated system, AU=0; g=0

I1. For a closed system, AU #0; q=0

The correct answer 1s

1808 BO 5050 H8ID0d0d
[. 2.8 eS8 (isolated) 950030, AU=0; q=0

1. 2,8 D0Xeed (closed) 553080, AU=0; q=0
RO BTN
Options :

Both statements [ and Il are correct

1 v 55— 1000 5§ — I O HBHD

Both statements I and II are not correct

5 % o°$DS — I OAW I°§§ — I BOLT DO 5°%)

Statement | is correct but statement 11 is not correct
3 % DS — 1 DODIA R 3§ — 11 SO 5°¢»

Statement I 1s not correct but statement 11 1s correct

4 % 5D — 1 DOTIE 570 5% 5§ — 11 SOTPIE
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K, for the reaction at T(K), A, (g}L“\._KL_ B,(g)1s39.0. Ina closed I L flask, one mole
of Ax(g) was heated to T(K). What 1s the concentration of Ba(g) at equilibrium
(in mol L)?

K) 30 A, (g)=—==2B,(g) w9655 K. Dend 39.0. 2.8 s 1 L &S 2.8

mﬁ Ax(g) D T(K ;m 3B TG, 3FVS 3¢ Bag) rreed (mol L ©F)
2085?

Options :

1.+ 0,975
2 % 0.015
3. % 0.65

4. % 0035
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Two statements are given below

. Sodium hexametaphosphate is used in calgon method for removal of permanent
hardness of water

[I. Lithium forms interstitial hydrides

Identify the correct answer

180 DO 752050 B SDFON

L. A3 73 565 055 SN TOS HPAS’ FAHO
S IRETT RIS & A

I1. OH0HO0 e )oehT ¢ P BE D )BT

DO Baranad hdodod

Options:



Both statements I and II are correct

1 % 05§ — 1 a00A a3 §ad§ — 11 DO SR

Both statements I and Il are not correct

5 % 6°§DS — 1 DO 5§ — I BOCK® DOQDD) 5°)

Statement I is correct but statement II is not correct
3 v DS — [ SOTRA 5 5§ — 11 HEPOIS 5°¢0

Statement [ 18 not correct but statement Il 1s correct

4 % 5D — 1 OIS 5°¢H R 5§ — 1T SOTIE
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The correct order of reducing power of alkali metals in aqueous solution is
2OTN0S 58 S'ee DTS § 008G s (800

Options :
1.¢vLi1>Rb>K > Na
2.%# Li>Na>K=>Rb

3. % Rb>K >Na>Li

4 % Rb>Na>K >Li
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Observe the following statements

Statement I : Ca(OH), is used in white wash

Statement I : CaCOs 1s used as mild abrasive in tooth paste
The correct answer 1s

1808 5D K0TS0

508 1 : Ca(OH)2 & 3950 ) 0 FONTRE e

58 111 CaCO03 o S D &S 1B ©N0IE0m e
QO 2arencd Hotdod

Options :

Both the statements are correct

1 DO 3§50 DO

Both the statements are not correct
, % OOCR I°§FEN OV 576

Statement [ 1s correct, but statement 11 is not correct

3 % DS T DODIB, 5°R 3§ 11 QOB 5°¢

Statement 1 is not correct, but statement Il is correct

4 % DT OOTDIE N, 5 5§ I DOTDIS
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Identify the correct statements from the following

. In2O; 1s a basic oxide

II. TICI is more ionic in nature than TICl;

[1I. Boron reacts with dinitrogen at high temperature to form BN

1808 ¢3S DO 550 HBotsod

. In20s 2.8 376 &3)&

I1. TICl; 0% TICI 050309 @OSTRE 0 §2Fadedd) $0E

1. @08 &8s 3O B'0°®, BRIEZA & 585506 BN o5 285000

Options :

[, IT only
1w LT Sr(eDd

[, [T only
> % LI 7|5 530

I1, 111 only
3 = 1L 1 SS9

4 v LILII
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In group 14 elements, the element with highest melting point is Y and element with
lowest melting point is X. X and Y respectively are

) 14 Srosod 18n (G058 TS0 o Qredo Y SHoah
13RS 30 K6 D080 X ©onaS X 005 Y e S8

Options :

1.% Si,C



, % Si, Pb

3 ® C Sn

4 v S0, C
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The oxygen carrying capacity of blood is reduced due to binding of haemoglobin with
TIFDS AIE 20080 SO S80 Y ©8)aS S FHYso
Sheod

Options :
1 % SO»
2.v CO

3. ® CO2

4 % NO;
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The technique used to purify an organic compound present in aqueous medium and
which is less soluble in organic solvent is

8809 (T3S’ %0y SO 28 860 950285830 NS 591210 AR HO
DANENE GdrioD HQe

Options :

Steam distillation
P ISTA PSR K (N To!

Differential extraction
, % B8 AN Qe

Continuous extraction

3. v OVGF AN Qe

Fractional distillation

4 % 38 @038 QS0
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The number of molecules with electrophilic centres in the following is

1808 e3¢5 O(FDOE Fredd DA &) Yo HoRs
CH,CH,Br, CH,COCH,, CH,CH,CN, (CH,),Cd

Options:

1.4 3



4, % 1
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Arrange the following halides i decreasing order of their reactivity towards
dehydrohalogenation

808 FBE 0 A @FSEIASS & Sorsdes 87 15008 ©88108

Br
A A AU 4
A B | C _ D

Options :

1.« B>D>A>C

2.« B>D>C>A

3vD>B>A>C

4.« D>B>C>A
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An alkene ‘X’ (C4Hs) does not exhibit cis/trans 1somerism. Reaction of ‘X' with

Br,/CCl, followed by reaction with reagent ‘Y’ gave ‘Z’ (C4Hg). What are °Y" and ‘Z°
respectively?

28 80,8 X’ (CaHs) DVNERS) PBHTERY. HGB0. X’ & Br,/CCl, &
B85 B0 SDTS Y’ 58508 985 2N Z’ (CsHe) & 30D, Y’
OO ‘Z” €0 SEIT ?

Options :
- aq.KOH - CH,CH,C=CH
., alc. KOH - CH,C=CCH,

3 ¥ (i) alc KOH, (ii) NaNH; : CH,CH,C=CH

, « (alc KOH, (i) NaNH, 3 CH,C=CCH,
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Identify the correct set

HOTS HAWB HBOB0S

Options :

S102 — 1onic solid — conductor — high melting point

1 % Si02 — @O5TS DSDTFSD — aFTEad0 — QS (9D Fredadnd

SiO2 — network solid — conductor — low melting point
5 % Si02— 270 HRAJTESN — FEPESIM — @) (D3I FeIa3n



NaCl - 1onic solid — insulator n solid state — high melting point

3 v NaCl - @905 508G - DIVBES 20ES5W ~ S (S T30

Fe — ionic solid — conductor — low melting point

4 % Fe — @05A% DIDTPES0 — TESm — @) (9239 Frededm
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At 300 K, the vapour pressure of liquids A and B are 600 and 500 mm of Hg

respectively. Two moles of A and three moles of B are mixed. The mole fractions of

A and B in vapour state are respectively

300 K &5¢, A B0 B ($aTe) 27%1) 653630 S8 600 8050 500 mm Hg.

30 IrS © A B0 e IS © B A EOrD, ar)as’ A H00w B

© JO 2PTPEN ST

Options:
1 % 0.4,0.6
> % 0.7,03

5 v 0.444, 0.555

4 % 0.666,0.333
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Correct Marks : 1 Wrong Marks : 0
What is the electrode potential (in V) of copper electrode dipped in 10> M Cu?" solution?
(E . =034V)

L'u"' Cu

107 M Cu* [769085” &00 5096 0|58 3820 (V ©F) 05?
(E,:. ., =0.34V)

Options :
1. % 0.399
2. % 0.1405

3.% 0,199

4.+ 0.281
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A - Pisafirst order reaction. The change in concentration of A with time is shown below,
The instantaneous rate at points X, Y and Z is Rx, Ry, and Rz respectively. What is the
correct order of Ry, Ry and Rz?

A - P, 28 (DD E5r08 $35 $00 & A mdd SR Srd) 808 Hod
Lr0TTA. DO X, Y SO0 Z © Q) % 63 TN SET Ry, Ry OO Ry.
Rx, Ry 08050 Rz © 8T ($adden E?

Conc. of A
ATPC3ed

fine —
SO0

Options :

1.¢ Ry>Rx>Rz

2. % Ry>Rz>Rx

3, ® Rx >Ry >Rz

4. % Rz=Rx >Ry
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Two statements are given below

Statement - I: Adsorption of a gas on the surface of charcoal is primarily an exothermic
process

Statement II: A closed vessel containing Ox(g), Ha(g), Cla(g), NHs(g) has a pressure
of P atm. About | g of charcoal was added to this vessel and after some
time its pressure is P' atm. It is observed that P'>P

1808 BOCH 355N Bed SF°ON
-1 05O &880 P T @ATANO0 (DT 28 Gaardd
2980%

Fs -1 28 RN PSSO 0x(g), Hag), Clh(g), NHi(g) © chdsn
P atm. 0878 1 g BFS & aﬁ"Lé@E EO. TORVIE Syares
T(SS 2S5 P atm, P'>P e H80wrdd

Choose the correct answer

HDOTA 20 & ) Fod
Options:

Both statements [ and I1 are correct

1 % $DS— 1003 s — 11 DO QBT

Both statements I and Il are not correct

5 % 0§D — 1000 5§ — I BOET DOV Fad

Statement I is correct but statement 11 is not correct
3 v DS — 1 DOTIS 5 5§ — 11 BT 5°¢0

Statement I is not correct but statement II is correct

4 % 50§ — 1 SOPIA 5°¢H 5°R 55— 1T HETIE
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Match the following

B0 °¢3Q 23¢% DGO
List I (Ore) List IT (Composition)
)& | (DS0) 2@ 11 (D00ES0)
A | Siderite I |ZnS
VDL
B | Malachite II | ZnO
Sre3E
C | Sphalerite [l | FeCO3
)88
D | Zincite IV | Cu2S
220388
V | CuCO;.Cu(OH):2

The correct answer 1s
NS TNV AYNT®

Options:

1.# A-IIl B-I1 C-V D-ll

2. % A-IIl B-1V C-] D-11

3.« A-lll B-V  C-I D-I1

4.% A-IV BV C-l D-I
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Identify the set of molecules which act as bleaching agents only by oxidation
38 1505690 5 (S DEOBITEONT HA T2 BENYHO DD H0THS

Options:



1. % SO2, O3
2. % 03, NO
3.« Cl, O3

4. % SO2, 03, Cl2
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Which of the following is correct statement?
B0 7¢36S" DB a5 AE?

Options:

High temperature, low pressure are the favourable conditions for the manufacture of
sulphuric acid by contact process

007 DEBS’ Her)s68 esh0D Sard Tokwerdy @B Gaf| .
| % OV)ABS0 BOETODS HOPSD

Moist sulphur dioxide behaves as an oxidising agent
, % SAMT &) 00)0 BOASFENE 2.8 @8 )83 (D8N0

Noble gases are easily soluble in water
5 % G2 9R TFANYe Ae3S” Lexzsorr Edheran

Noble gases have positive electron gain enthalpies
4 v G50 9a) FPONYOR Heeh8 JO|F (T OGO 1N GOLTON
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Which of the following does not evolve Oa, when made to react with water?

1808 73S BA DSBS 385 SOBODS I 02 FENSCSE?

Options :

1. % F2

2. % XE‘F:

3. % XeFs

4. XeFs
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Observe the following reaction

1808 B9850 D8N 0B
xI” + yMnO; +zH" — aMn™ + bH,O+cl,
Which of the following are correct?
808 ¢3¢5° HOTDOD D?
(1) y:ix=2:5
(i) y:a=1:1
(m) x:c=1:2
(iv) y:e=2:5
The correct option is
QBN W80
Options :
1, 11, 111 only

| % 1, i, 1l SP(eH

11, 111, 1v only

5 s i, iii, 1v 39D

ii, iv only

3 v il 1V (5D

4. % 1,11, 11, 1v
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Which of the following are inner orbital paramagnetic complexes?

808 T3S’ @0 &30S HTOHAT) 0 HOTFeN d?
I. [Mn(CN), ] I1. [FeF,]" I, [MnCl, ]* IV. [CoF,J"

V. [Fe(CN), [~ VL [Co(C,0,),]"  VIL [Fe(CN),]"



Options :

11, 111, TV only
1w LTV S8

I, Vonly
5 oL VI

VI, VII only
3 = VI, VII Sp(¢$3

I, VII only
4w 1, VIISP(e3
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The number average molecular weight (M, )ofa polymer is 1500. In this polymer, 800

molecules of molar mass 1000, 100 molecules of molar mass 2000 and x molecules of
molar mass 5000 are present. What is the value of x?

28 O Ty Hien Nows @eerdo (M, ) 1500, HAS ©ezrdo 1000

fie) @) 800, @e02300 2000 (& @eDe)en 100 OO e3¢0 5000 e
QENLYEN X G*Y 0. X )N OCS?

Options:
1. % 200

2 % 400

3.+ 100



4. % 50
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Phosphodiester linkage that joins nucleotides together 1s present between which
carbons of pentose sugar?

APSTFBE 0% 02 FFIBANE 2080 DOEE $TES @ IS © sS
GOeNOA?

Options :

1.2 3,3

2_\-/5'13“

3.% 9,2

g.% 3,2
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Which of the following 1s used in hiquid detergents?

1808 ¢35 BA (A5 BEToLS” e in?

Options:

1.4



CoHio

O (CH2CH:20)sCH2CH20H

SOsNa

, » (CH2)1uCHs

- Ci17H3sCOONa

.+_
4 » (CH3)sN(CH2)15CH
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Given below are the two statements regarding chlorobenzene

Statement — I: Chlorobenzene 1s less reactive than benzene towards electrophilic
substitution due to -1 effect of chlorine

Statement — [I: Because of I effect of chlorine, it is meta directing group

§82B02S 5 50050 (806 BOK a5 Qe 5B

Tss -1 §08 TE) -1 32750 S0, dO§DOF (BT HeS BoES
$0% §8B0ES & 88 Sogeds &otnod

551 SO BwE) 1 (D270 S0 @& er APFE DT

Choose the correct answer

DO Bar2D &) A Fod

Options :



Both statements | and Il are correct

1 % $DS—1 DO F°gas — I DO DO

Both statements I and II are not correct
5w O §WS—1 DO 5§ — I BOLT DB 57

Statement 1 1s correct but statement II is not correct
3 v D1 DODIA R 5§ — [T SOOI 5°¢»

Statement I is not correct but statement II is correct

4 % 55— 1 SO 570 5% 5§ — 11 HOTOIE
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Which of the following sequence of reagents convert benzaldehyde to 4- chlorotoluene?

808 85 ($:00 BozrO)3TE & 4 - SEEOS I SrEdN08?

Options :

, = NaBH, ; Cl, |Fe

, « NaBH, ; Cl, |hv

5 » Zn—Hg, HCIL; Cl, |Fe

4 » Zn—Hg, HCI ; Cl, |hy
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Phenatole can be prepared from which of the following reactants?

B0  (8A5ra 5 0B DIETS A $055°B TAHSTN)Y?

Options :

, CH3CH:Br

CH:;CH2CH:2Br
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In the following reaction sequence, what are X and Y respectively?

1806 BST5E00S" X HO0N Y €0 SEIMT 2

COCH: X I—Iydrazmle ¥ @/\
—_— P E
TSES



Options :

~.~OH

- NH:NH: § KOH/HO

e

NH:NH:

Zn-Hg , HCI
2. % =

.

OH
KOH/HO

.

NH>OH
3. %

. NH2OH § Zn-Hg, HCI

.

4.
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Identify *Z’ in the following sequence of reactions

180D 5078 8006 Z7 & 10w

~ HBr/ i (i)Mg/Ether Br,/Red P

CHi—enooms X — e, Y >7.
ujH"

Options :

%z*mef

COOH

J\Br
2. %



COOH
s

3 ¢ Br

Br
4%,Lv;c00H
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In the following reaction sequence, what are X and Y respectively?

80 BTYEN0S” X HOOW Y €0 ST DN?

COOEt X (1) NH:OH CN
g gy
()Y

Options :

.« H,|Pd:(CH,CO),0

Pd; C,H.SO,CI, Pyridine D84S

o, » H

. () DIBAL-H (ii) H,0; (CH,C0),0

4« (i) DIBAL-H (ii)H,0; C,H.SO,ClI



